
SATIN BLACK DRINK HOLDER WITH PERCH MOUNT AND MESH BASKET  1738 

Page 1 

THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE CONTENTS DESCRIBED HEREIN CAN 
RESULT IN POTENTIAL DEATH OR SERIOUS INJURY. 

This indication alerts you to the fact that ignoring the contents described herein may negatively affect product per-
formance and functionality or damage the product itself or the product to which it is being attached. 

STEP 1 Read and understand all steps in the instructions before starting the installation. Park the motorcycle on a hard, level surface and turn 
IGN OFF. 

 

 

NOTE: The Perch Mount Arm allows for a center-to-center vertical spacing of 1-1/8” to 1-11/16” (28.58-42.88MM). 
 
Universal Basket Holder will accept most average sized cups, cans, bottles, 
and mugs with a 2” to 3-1/2” (50.8-88.9MM) diameter.  

 

STEP 2 The Drink Holder can be installed on the clutch or brake perch mount. The Mount Arm angles 
toward the center of the bike in a typical installation. 

 

STEP 3 Refer to PIC 1. Remove the bottom screw securing the clutch or brake perch halves; it will not 
be re-used. 

 

ENSURE THAT THE FOLLOWING PARTS HAVE BEEN INCLUDED IN THE KIT: 

1 Drink Holder Basket 
1 Perch Mount Arm 
1 Anti-Seize Packet 
1 Perch Mount Kit Containing: 
 2 1/4”-20 x 2" Button Socket Cap Screws 
 2 1/4”-20 x 2-1/4" Button Socket Cap Screws 
 2 M6 x 1.0 x 55MM Button Socket Cap Screws 
 2 Washers 
 2 Spacers 
1 Hardware Kit Containing: 
 2 Shims 
 1 Thumb Nut 
 1 5/16" Split Lock Washer 
1 Installation Instructions 

 

YOU WILL ALSO NEED: 
Set of hex wrenches, 7/16” open end wrench 

These installation instructions contain important information. Ensure that the end user receives this copy and is 
aware of its importance for future use. 

Avoid damage to the motorcycle. Protect painted surfaces with a soft cloth or blanket. 

1738-11MC-0915 

Thank You For Choosing Küryakyn! 

Protect yourself and others from potential injury and property damage or loss. Pay close attention to all instructions, warnings, cautions, and notices 
regarding the installation, use, and care of this product. 

PIC 1 

REMOVE THIS 
SCREW 

CLUTCH-SIDE (LEFT) 



Page 2 

STEP 4 Compare the threads of the included screws with the threads of the existing screws to deter-
mine the correct screws. 
 
The 1/4”-20 x 2-1/4” screws are typically used on older H-D motorcycles; 
 
the 1/4”-20 X 2” screws on newer Harleys; 
 
the M6 X 1.0 X 55mm on Metric bikes. 

 

 

 

STEP 5 Refer to PIC 2. Pre-assemble the Mount Arm as shown using one of the included Washers, 
Screws, and Spacers; apply Anti-Seize to the exposed threads. 

STEP 6 Refer to PIC 3. Secure the Arm to the perch mount; leave the screw finger-tight for now. 

STEP 7 Refer to PIC 3. Remove the upper screw; it will not be re-used. 

STEP 8 Rotate the Arm upward; align the holes; secure it with the other Screw, Washer, and Spacer 
(don’t forget the anti-seize). 

STEP 9 Tighten both of the screws securely. 

STEP 10 Refer to PIC 4. The Drink Holder can be installed so that it pivots in the clamp 
(use Shim) OR “locks” in place (do not use Shim). 
 
Insert the Drink Holder stud through the mounting arm, place one of the Shims 
and Lock Washers over the protruding end. Apply anti-seize to the threaded 
portion of the Stud; Secure with the Thumb Nut. 

Do not overload the Drink Holder Basket with excessive weight. 
 

The adjustability of the Drink Holder was not intended to prevent spills. 

 

Ensure that the Drink Holder is secure on the Clamp and that the Clamp is secure on the motorcycle. It is 
the end user’s responsibility to ensure that all fasteners (including pre-assembled) are tightened before 
operation of the motorcycle. Kuryakyn will not provide warranty coverage on existing or new components 
lost or damaged due to improper installation or lack of maintenance. Periodic inspection and maintenance 
are required on all fasteners. 

Anti-Seize aids in the future removal of fasteners and helps prevent cor-
rosion. Apply the included Anti-Seize directly to the threads of all fasten-
ers to be installed. 

ENSURE THAT THERE IS PROPER CLEARANCE AT ALL 
POINTS WHEN THE HANDLEBARS ARE TURNED FROM 
STOP TO STOP. INSUFFICIENT CLEARANCE MAY 
CAUSE DAMAGE TO THE MOTORCYCLE OR CAUSE 
LOSS OF CONTROL THAT COULD RESULT IN SEVERE 

PIC 4 

THUMB NUT 

PIC 2 

WASHER 
SPACER 

SCREW 

PERCH MOUNT ARM 

REMOVE SHIM FROM INSTAL-
LATION TO “LOCK” DRINK 
HOLDER IN PLACE 

LOCK WASHER 

PIC 3 

ROTATE UP 

REMOVE TOP 
SCREW 


